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LarTrig? 4.1.011. (2469139) (Add) — view

LarTrigd 4.1.013.MLSA. (2936587) (Add) — view " (Om ) (Ad&&E) (-]

Write the complex number in standard form. - a+h(
6+ 4 - .
v —16 - Q vy

7-y/-48

Step1

. «
=343 = 24 (45) ¢
Write the square root as the product of two square roots.

A —

This question has several parts that must be completed sequentially. If you skip a part of the question, you will not
receive any points for the skipped part, and you will not be able to come back to the skipped part.

Tutorial Exercise

Write the complex number in standard form.

9 U‘Z
9 Ll‘-f Q'O‘\G

U’Z/ =9 \/:5
G
~

Step 2

Use the definition, /= /=1, to simplify.

R
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‘ LarTrigd 4.1.019. (2456881) (Add) — view

Write the complex number in standard form.

—-11i + 2

B e
Need Help?

LarTrigd 4.1.027. (2860243) (Add) - view "

(20 ) (/=) -

LarTrig? 4.1.031, (2859690) (Add) - view

Perform the operation and write the result in standard form.

2 2
J+."u'
I s

LarTrigd 4.1.035. (2850684) (Add) -- view ™

3

Perform the operation and write the result in standard form.

13i{1 — 8i)

ey
Bl 1130 C3i)
= 30— ey

Z 0k oY
4 ¥V«

Perform the operation and write the result in standard form.
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LarTrigd 4.1.037. (2859716) (Add) — view ™

Perform the operation and write the result in standard form.

(VEvEvE-vE) < (G (@Y =

S F:xxy

LarTrig® 4.1.039. (2859765) (Add) - view

/S - W2 IS +14 229

Sy L Lh*
Perform the operation and write the result in standard form. < a 4‘5> PR A 2}
(4 + 80?2

e

‘ LarTrigd 4.1.043. (2483708) (Add) —- view

R N AR YN -7 S PR R A T

b F6HC LY

1"

)

8 F0Y.

Write the complex conjugate of the complex number.

3+4J":% =7£: g-%c

I =

LarTrig? 4.1.045, (2483688) (Add) - view ™ @

Write the complex conjugate of the complex number.

Vs =T s G
=

Multiply the number by its complex conjugate. (Simplify your answer completely.)

D (2 Ve rgd) = €D v G

I

-2+ VG

\

Ytl=10

LarTrig? 4.1.051. (2859856) (Remove) -- view *

Write the quotient in standard form.

Z ., -v Wy

A L R

]
s i
I =7
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LarTrig9 4.1.055, (2850485) (Add) - view

Write the quotient in standard form.

Ug, thj‘tﬂquw o‘p‘hv %WC«Q?LM.

-2
B+ 280 + 1

(
B ey

) (A

s (T3 = V@G =(-113 K

LarTrig? 4.1.069.ML. (2550714) (Remove) -- view ~

c) oy = V=0

4+ V)6 - VD)

]

24+ TV2 41 (ﬁv‘? —~ -'lv"ﬁ)

Write the complex number in standard form. {Simplify your answer completely.)

=Y —‘fﬁmq-“*c‘ﬁ}:('—'(ﬁgx‘ﬁ '“j
- e (WG L eF) L F PV

C s+ (eF VR O

o A ITRVE O (e ©3 o -
g —i - g_z 81¢ = 6-7' ~ = —_— = Z;" -)—(':s’_t
6 167 i oS
LarTrig9 4.1.057. (2859476) (Add) — view ™
Write the quotient in standard form.
. . - 2 .
(2= - e 3 g
! ¢ ) T =
LarTrig? 4.1.061. (2859801) (Remove) - view * < ~ 2 2
LeD = (/+c)(/—c\ = T+ =i+ 1=
Perform the operation and write the result in standard form.
« c , .
ANY/EAN (ij)(:f) - (FFE)
)+ (¢ 1=t 14 2
. - 1 -I'}(
C-G(-F=Fc _
LarTrig9 4.1.065. (2859925) (Remove) — view " - . _
Comment: not randomized 2
.
Write the complex number in standard form. ( | .
No) - = Z
v -6 " \’(—72 L = "a‘ = T 2 ¢

|
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LarTrig9 4.1.071. (2860287) (Add) -- view

Comment: not randomized

(@3m ) (Sb&ds) (—r

a=l, b= -2, =2
Btae = G 40
B g )
=-¢

[\l

~3y (-4 =2¢

Use the Quadratic Formula to solve the quadratic equation. (Enter your answers as a comma-separated
list.}

_ ~5’£(57-‘-/ac

23
2ENH ot + ¢
- __— = -
(o= 2
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Comment: not randomized

November 08, 2016

list.)

(@ ) (Ld&E&E) (w=—rT

3

x? —Gx+9=0

=0

?;(xq'_‘ha \5 +G =0
~

2 (e Fa) =2 (4) v

Use the Quadratic Formula to solve the quadratic equation. (Enter your answers as a comma-separated

= Bx=11x +18 =O

x“_dy+L =0

a_—ll 5—,-—‘-}/ Cﬂé

@}8
* |
Livac= () 4Gl ,:’

= (- =-8
\g_’ - L'L\é
—20(2

b £VE=vac
Xx= _—
22

\l

Uyt NL _qflli’-i‘@

//_

z(l\

2

3
S 2N+
2 (e 4320 ()l
> - _(a.\__q
=75
Nov 7-9:37 AM



	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6

